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1. Which of the following is correct?
Assets Liabilities Capital
£ £ £
A 7850 1250 6600
B 8200 2800 11000
C 9550 1150 8200
D 5420 6540 1120
1. [To1o amd o Tapakdro givol 0pbo;
Evepynuiké  HaOnukdé  Kepdroro
£ £ £
A 7850 1250 6600
B 8200 2800 11000
r 9550 1150 8200
A 5420 6540 1120
2. The effect on a firm’s assets and / or liabilities as a result of it buying goods on
credit is:
Effect upon Assets Effect upon Liabilities
A Reduce bank Increase creditors
B Increase cash No effect
C Increase cash Decrease loan
D  Increase stock Increase creditors
2. H enidpaon oto evepyntikd kot / 1 to Tabntikd pog entyeipnong and v

ayopd eumopevdToV e TioTOon elvar:

Enidpaon mévo oto Enidpaon mévo oto
Evepyntikd Hodntucod
A Meiwon Tpanelog AvEnon [Mototonv
B Av&non Tapeiov Kopio emiopaon
I'  Ad&non Tapeiov Meimon daveiov
A AvEnon Amobéuatog AvEnon motoTthv

Eumopevpdrov




Which of the following possible double-entries is correct?

Account to Debit Account to Credit
Bank Bank
Vehicles Bank

Both of the above
None of the above
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Moo omd T1g mopoakdT® TMOAVvES SITAOYPAPIKEG EYYPAPES Eivar 0pON;

Aoyoplaouog yio Xpémwon Aoyopracuog ywo Iiotmon
Tpanela Tpanela
Avtoxivnta TpaneCa

Kot ta 000 to 1o nhve
Kavévo amod ta mo mavo
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If there is a separate ledger account for each debtor and each creditor, which of
the following double-entries is the correct way to record the lodgement of
money received from P. Georgiou, a debtor?

Account to Debit Account to Credit
A P. Georgiou Bank
B Bank P. Georgiou
C Bank Cash
D Cash P. Georgiou

Av 610 KaBohod vrdpyet Eexopiopog Aoyaplacos yio Kabe xpedotn Kot yio
Kd0e MOTMTY, O OO TIC TOPAKATM OITAOYPAPIKES EYYPUPES Elvar 0 opBOg
TPOTOG Y10, VO KATAXWOPIGOVLE TNV KaTdOeon pnUdT®mV oV e16Tpiydnkay omd
10 ypewot I1. T'ewpyiov;

Aoyopuocudc yio Xpéwon Aoyaprocudc v [ictmon
A I1. Tewpyiov Tpanela
B Tpanela I1. Tewpyiov
r Tpanela Tapeio
A Tapeio I1. T'ewpyiov

In accounting, the term “purchases” means ....

All items bought.

Only goods bought on credit.

Only those goods bought for resale.
Only goods bought and paid for.

Caw»



211 AoYI6TIKT, 0 OpOG «AyOopEG» ONUOIVEL ...

O)a to avtikeipeva mov ayopalovrat.

Moévo ta gumopedpaTo Tov ayopdlovial LE TIoTOoN.
Moévo To eumopedHATO TOL 0yopAlovTal Y10 LETOTMANOT).
Moévo 1o gpumopebpata Tov ayopaloviot Kot eEoprovvTat.

s llvelie

Which of the following would appear in a trading account?

A Discounts allowed
B Carriage inwards

C Carriage outwards
D Discounts received

[To1o amd o mapaxdto Ba eppaviotel oto Aoyaprooud Expetdiievon
Epnopevpdtov;

Exntocelg yopnyoopeveg
Metagopikd Ayopmv
Metagopikd [Toincewmv
Exatooeig Aappavopeveg
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In which of the following will “cash discount allowed” be originally recorded?

A Ledger

B Journal

C Purchases book
D Cash book

Y& oo and ta mapakato PiPiia, n «Xopnyoduevn Touelakn Exntoon» 0o
KataywpnOel apyikd;

A Kafohwod

B Huepoloyio

r BiAio Ayopav
A B1pAio Tapeiov

At the start of its year, a firm had brought forward a debit balance of £30 on
rent account.

During the year, the firm paid rent of £150, and carried forward a credit
balance of £20.

The amount charged to the profit and loss account for rent was:

A £200
B £180
C £170
D £150



v apyn Tov £T0VG, Iia enLyeipnon €xel amd HETAPOPA VA XPEDMCTIKO
vrorowmo £30 oto Aoyapracud Evoikia.

Kotd m didpkela tov €106, 1 enygeipnon mhpwce gvoikia £150, kot
LETAPEPE Y10 TNV EMOUEVN XPOVIA £V TIGTOTIKO VITOAOLTO £20.

To mocd mov emPapvvinke o Aoyaploouos ATOTELEGUATOV XPNONG Yo
gvoikia NTav:

A £200
B £180
r £170
A £150
9. Drawings
A are an expense of the business
B must reduce the cash of the firm
C could result in a fall in the amount of capital
D are entered as a credit in drawings account
9. Ot amoAyelg
A etvan €va €£000 NG emyeipnong
B HELOVOLV TTAVTOTE TO LETPNTA TG EMLYEIPNONG
r KOTOANYOVV GE LEIDOT) TOV TOGOV TOV KEPUANIOL
A KOTAYOPOVVTOL OC TIGTWOT GTO AOYOPLUGUO ATOANYEDV
10. Given figures showing Sales £28500, Opening Stock £4690, Closing Stock
£7240, Carriage inwards £570 and Purchases £21360, the cost of goods sold
figure is:
A £19830
B £19380
C £18810
D Another figure
10. Me Baon ta otoryeia mov detyvouv [Toinoeig £28500, Apyucod andBepa

£4690, Tehkd andBepa £7240, Metagpopikd ayopmv £570 kot Ayopég
£21360, 10 K00T0G TV TOANOEVTOV EUTOpELUAT®V Elva:
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£19830
£19380
£18810
"Eva, d\lo mocd




11. Which of the following is not a personal account?
A Debtors
B Drawings
C Wages
D Creditors
11 [To1o amd o Tapakdto dev eivol TPOSOTIKOG AOYUPLOGHOG;
A Xpehoteg
B AToAyELS
r Hpepopicha
A [Tiotwtég
12. An invoice shows a total of £3200 less a 2%2% cash discount. If this was not
paid in time, the amount of the cheque paid would be for:
A £2960
B £3280
C £3120
D £3200
12.  "Evo tywoAoyio deiyvel obvoro £3200 peiov 2¥2% tapeiokn Ekntmon. Av 1o
TIWOAOY10 0V TO dev TANpwOEL Eykatpa, To TOGH NG EntTayng Tov Oa
katafAnOet Oa givar:
A £2960
B £3280
r £3120
A £3200
13 Depreciation is:
A The cost of a current asset wearing away.
B The cost of a replacement for a fixed asset.
C The salvage value of a fixed asset plus its original cost.
D The part of the cost of the fixed asset consumed during its period of
use by the firm.
13. AmndoPeon eivat:

A

To x66T0Gg EVOG KUKAOPOPLOKOD EVEPYNTIKOD OV LELMVETOL AOY® TNG
xpriong tov.

To x66T0Gg £VOG AVTOALIKTIKOD Y £Va TAY10 GTOTYELO.

H vmoleippoticn a&io vog mlrylov oToryeiov Guv T0 apyIKo Tov
KOGTOG

To Tufpe ToL KOGTOVG EVOC TAYIOL GTOLYEIOD TOV AVUADVETOL KOTA TN
SLaPKELN TNG XPNOLUOTOINGNG TOL OO TNV EMYEIPNON).



14. A provision for bad debts is created:
A When debtors become bankrupt
B When debtors cease to be in business
C To provide for possible bad debts
D To write off bad debts
14. Mo TpdPAreyn Yo EMOQAAEIC YPEDOTEG ONLUIOVPYEITOL
A Otov ypemoteg knpvyBodv 6€ TTO®YEVOT)
B Otav 1pedoTtEG GTAUNTOVY VO EUTOPEVOVTOL
r Mo va tpoAneBodv mbavég andAEEg XPEDCTOV
A Mo va drrypapodv amdAELES YPEOCTMV
15. Relate to the following assets and liabilities:
£ £
Stock 1000 Machinery 750
Cash at bank 750 Debtors 750
Cash in hand 50 Fixtures 250
Creditors 500 Motor cars 750
Capital 3800
Working capital is:
A £3050
B £2050
C £ 500
D £ 800
15. Me Bdon ta mapoKdato evepynTiKAa Kot TafnTikd ototyeio:
£ £
AmdBgpa 1000 Mnyovipoto 750
Metpntd oty Tpdmela 750 Xpemoteg 750
Metpntd oto Tapeio 50 ‘Emum\a 250
[Tiotwtég 500 Avtokivnta 750
Kepdraro 3800

To xepdiaio kivnong sivar:
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£3050
£2050
£ 500
£ 800




16. If we take goods for own use, we should:
A Debit drawings a/c: credit purchases a/c
B Debit drawings a/c: credit sales a/c
C Debit drawings a/c: credit stock a/c
D Debit sales a/c: credit stock a/c
16. Av Taipvovpe EUTOPELLOTA Y10 OIKN LG XpNoT, Oa Tpémet:
A Na ypewbei 0 AMoudg Amornyelc: No motwbei o Aopog Ayopég
B Na ypewbei 0 AMopdg Amoryeic: Na motwbei o Mopdc [oincewv
r Na ypewbei 0 AMopdg Amorqyels: Na motwbei o Mopodc And0gpa
Epnopevpdrov
A Na ypewbei 0 AMopdg molfioeig: No motwbel o A/opog Andbepa
Epnopevpdrov
17. Of the following, which should not be entered in the Journal?
(6)) Cash payments for wages
(i) Bad debts written off
(iii))  Credit purchases of goods
(iv)  Sale of fixed assets
A (1) and (ii)
B (1) and (iii)
C (ii) and (iii)
D (iii) and (iv)
17. Amd 10 mo KAtw, To10 dev Ba kataywpndel 6TO NUEPOAIYI0;
@) [Minpopég nuepoicdiov oe petpntd
(i1) Awrypoon amOAELOV YPEDCTOV
(i)  Ayopég eUmOpPEVUAT®V LE TIGTMOO
@iv)  oAinon mdyiov ctoyeiov
A (1) ko (ii)
B (1) ko (iii)
r (i1) ko (iii)
A (i11) ko (iv)
18. Given last year’s capital as £74500, closing capital as £46200, and drawings of

£13400, then:
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Profit for the year was £14900
Loss for the year was £14900
Loss for the year was £15900
Profit for the year was £16800



18.

AgdopéEVOL OTL TO KEPAAOLO TOV TTPONYOVUEVOL £T0VG Mty £74500, T0 TEMKO
KeQAAA10 TOL TpEYOVTOG £T0VG £46200, Kol 01 ATOANWYELS TOV TPEYOVTOG £TOVG
£13400, torte:

To x€pdog Tov TpéYovTtog £Tovg givor £14900
H Inué tov tpéyovtoc £tovg sivar £14900
H {nué tov tpéyovtoc £tovg givar £15900
To x€pdog Tov TpéYovTog £Toug givor £16800
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19.

19.

A firm bought a machine for £50000. It is expected to last for six years and
then be sold for £5000. What is the annual amount of depreciation if the
straight-line method is used?

A £7000
B £8000
C £7500
D £6750

Mua emyeipnon aydpaoce éva unydvnuo yio £50000. Avapéveton va
dropréaet £€n € kou petd va movAnOel yio £5000. Tlowo Ba givar To €To10
1060 NG amodcPeong av epapudletar 1 gvbeio pEbodog amdcPeong;

£7000
£8000
£7500
£6750
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20.

What would be the totals on a trial balance given the following balances:

Loan from Smith £2000
Stock £3955
Bank overdraft £ 368
Debtors £3092
Fixtures £5500
Petty cash balance £ 121
Creditors £2766
Motor Vehicles £3900
Capital ?

A £11494

B £14628

C £16568

D £16996



20.

[Mota Ba givar ta abpoicpota evoc tloolvyiov pe Baon To mo KAT® LIOAOUTA:

Advelo

otd to Smith £2000

AndBgpo Epmopevpdrov £3955
Hopatpafnyne Tpanelag £ 368
Xpemoteg £3092

"Emmha

£5500

Ynorowmo Mikpo0 Tapeion £ 121
[MotoTéc £2766
Avrtokivnta £3900

Kepdrao ?
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£11494
£14628
£16568
£16996

21.

21.

If Scott lent his friend Clark £5000 in cash, then the entries in Clark books
would be:

A
B
C
D

Debit cash: credit creditors

Debit Loan from Scott: credit cash
Debit capital: credit Loan from Scott
Debit cash: credit Loan from Scott

Av o Scott daveice 10 @ilo Tov Clark £5000 og petpntd, TOTE 01 EYYPOPES OTA
BipAria Tov Clark Oa givai:
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Xpéwon Tapeiov: ITiotwon Ilictotdv

Xpéwon Aaveiov and Scott: [Tictwon Tapeiov
Xpémon Kepalaiov: [Tiotmwon Aaveiov and Scott
Xpéwon Tapeiov: ITictwon Aaveiov and Scott

22.

22.

The closing balances in a Sales Ledger:

A
B
C
D

Are always debit balances

Are always credit balances

Can be both debit and credit balances
None of the above

Ta teAikd vroroima oto Kaborikd Xpemotmv:
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Eivon mavtote ypewotikd vroAoma

Eivon mavtote mototikd vrorloma

Mmropel va givar Ko xpemOTIKE KOt TIGTOTIKA
Kavéva and ta mo ndve




23. In the balance sheet of a sole trader, prepayments should be shown as .....
A a deduction from capital
B part of creditors
C a deduction from current liabilities
D part of current assets
23. Y10v [60AoYIoHO oG aTopIKN G EmyEipnong, Ta TpomANpwhéivta £€0da
epoavioviot g ...
A o peioon amd To KeAaioo
B LEPOG TOV TUGTMOTMOV
r o peioon tov Bpayvmpobecpov madntikon
A oTo1XEl0 TOL PpoyLIPOBECLOV EVEPYNTIKOD
24.  Which of the following is capital expenditure?
A The cost of repairing a vehicle.
B The cost of acquiring a vehicle for re-sale
C Proceeds arising from the sale of a van which had been used in
the business to make deliveries to customers.
D The cost of a new vehicle acquired for continuing use in the business.
24, [To1o omd o TOPaKAT® OmTOTEAEL KEQOANLOKT] damdvn?
A To x66T0¢ £MOIOPHDONE EVOG AVTOKIVIITOV.
B To k66T0¢ ATOKTNONG EVOS AVTOKIVATOV Y10, LETATMANON.
r Ot e1ompa&eLg amd TNV TOANGT VOGS QVTOKIVIITOV TOV YPTCOTOLEITO
OTNV EMLYEIPNON Y10 LETAPOPEG EPTOPEVHATMOV GTOVS TEAATES.
A To K6610¢ AmOKTNO™NG EVOG KOVOVPYLOU GUTOKLVITOV Y10 VO GUVEYIGEL
VoL (PNCUOTOLEITOL GTNV EMLYEPNON.
25. The Sales Daybook is used to record ...
A Money received from debtors
B The names, addresses, credit terms and other details regarding debtors.
C Invoices issued to customers in respect of goods sold on credit.
D None of the above.
25. To Bipiio [oifcewv ypnoiomoteiton yio vo KatowpovuvTal ...

Xpfuota Tov Aapfavovtal and ypedoTeg

Ta ovopata, o1 S1evBVHVGELS, TOTOTIKOTL OpOL KOl AALEC TANPOPOPIEG
GYETIKA LLE TOVG YPEDCTES

TipoAdyo Tov €kd100VTOL GTOVG TELATES TPOG TOVG OTOIOVG TWAOVVTOL
EUTOPEVUOTA LLE TIOTMOT).

Kavéva and ta mo nivo.




26. The total of the discount allowed column in the cash book should be posted to
A the debit side of the discount allowed a/c
B the debit side of the discount received a/c
C the credit side of the discount allowed a/c
D the credit side of the discount received a/c
26. To GBpoiopa TV YopNYOLUEVEOV EKTTOCE®MY TG 6THANG Tov Bifiiov Tapueiov
0o Tpémel va kataywpnbel ot ...
A YPEMOTIKN TAELPE TOV A/CUOV EKTTMOGELG YOPTYOVLEVEG
B YPEMOTIKN TAELPE TOV A/CUOV EKTTAOGELG AOUPOVOLEVES
r MOTMOTIKY TAELPE TOV A/GLOV EKTTMOGELG YOPTYOVUEVEG
A TOTMOTIKY TAELPE TOV A/GUOV EKTTOGELG AAUPOVOLEVES
217. The value of a firm’s stock at the end of an accounting period is found by ....
A stocktaking.
B looking in the stock account in the nominal (general) ledger.
C deducting the total of the firm’s purchase from that of its sales
D deducting the firm’s cost of sales from the total of its sales.
27. H a&ia tov anobépotog UmopELIATOV LL0G ETLXEIPTIONG OTO TEAOC TG
AOYIGTIKNG TTEPLOSOL VTTOAOYILETOL ...
A LE QLGIKN OTOYPAPT
B ue Paon 1o Mopo Amobépatog Epmopevudtov mov Bpicketol 6to
I'evikd KaBorikod
r LE 0pOipEST] TOL GLVOLOL TV AYOPDY OO TO CUVOLO TV TOANGEWDV
NG EmyElpnoNg.
A LE 0paipEST) TOL KOGTOUG TMANGEMV OO TO CUVOAO TOV TOATCEMV
NG EmyElpnoNg.
28. The correct heading for the balance sheet of F. Wood at the end of December
2005 is “Balance Sheet of F. Wood ....
A for the period ended 31 December 2005”.
B for the year ended 31 December 2005
C as at 31 December 2005”.
D as at December 2005”.
28. H opbn emkeparidoa tov i1coroyiopov tov F. Wood oto téhoc Aekepfpiov

2005 etvon “Iooroyiopog F. Wood ...

vl TNV TEPiodo mov Afyel v 31 AgkeuPpiov 20057,
v To £to¢ wov ANyel v 31 Aexeufpiov 2005”.

v 31 Aexepfpiov 2005”.

10 AegéuPpro 2005”.
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29.

29.

The following information relates to a sole trader.

Total of all assets at 1 June £3300
Total of all liabilities as 1 June £2500
Net profit earned during June £1000
Drawings during June £ 700
Capital introduced during June £5000

The sole trader’s capital at 30 June was:

A
B
C
D

£6100
£6300
£6500
£6600

O1 10 KAT® TANPOPOPIES APOPOVV LU0l OTOLIKT] ETTLXEIPTION.

YHvolo otoryeiov evepynrikod v 1 lovviov £3300
YHvolo otoryeiov madntikod v 1 lovviov £2500
KoabBapd képdog mpaypatoromBéy katd ) didpkeia lovviov £1000
Amoryelg katd ™ didpkeia lovviov £ 700
Emumpdcbeto kepdrao kotd ™ didpkela lovviov £5000

To xepdioio g atopkng entyeipnong v 30 Iovviov frav:
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£6100
£6300
£6500
£6600

30.

30.

Which of the following are entered in the Purchase Journal or Daybook?

A
B
C
D

Payments to suppliers

Trade discounts

Invoices received from suppliers
Cash discounts received

[Toto amod To Tapakdto Kataywpeital 6to BiAiov Ayopmv;
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Minpopég otovg Tpoundevtéc

Eumopikég exntmoelg

TioAdyla Tov Aappdvovior amd tpoundevtég
Tapelokég eKTTOoELG AapuPavoueves







